Demo: heating a corked test tube

Aim: How do we explain the behavior of gases? (Part II)
<
<

1. What's happening? {TP, Vconstant, TT}

a) In a rigid container the volume is constant, the pressure increases as the @
temperature increases; it's a “direct” relationship

b) Lussac’s Law: At constant volume, the pressure of a gas is directly related to D
its Kelvin temperature.

c) Why? The KMT says, in a rigid container, as the temperature of a gas

increases, its molecules collide against the walls of the container more often &
with greater force which causes the pressure to increase.

2. Demo: steel bell with pressure gauge attached.
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DO NOT FORGET TO CONVERT TO KELVIN
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Double T, Double P a “direct” relationship

c) FORMULA

P= a constant number > Pi1= P2
T 1 T2

3. Refer to Handout. Finish problems.

RCHEM1/Chille Gay-LussacsLawdimée
Gay-Lussac'sLaw - At constant V, P is directly refated io T.

P = P
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